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ROZDOB f(x), g(x) ZBHL. (g0 £)(x) & (f 0 9)(x) ZERSD. fo)=1-x g = hw=1-L ez

a) f(x)=x—1, g(x)=2x+1 a) BREIH (f 0 g)(x) & (g 0 h)(x) ZERDE.

3y b) ((fog)oh)(x) & (fo(goh))(x)ZRsD, MBEN—HMIDILERE.

b) ()= o g = o

2x + 1
x—3

flx) =
a) R f1(x) BERHK.

9D,

o fx)=x+1, gkx)=|x|+1

d) f(x) =4, g(x)=log,x b) (f_l o fIx)E (fo f_l)(x) HENENHEE LK.
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TORDISDE, B8y = f(x) DISTTHD. TDOEEH y = f~1(x) DISDTE, y = f(x)
| icra | BBILIEEDTHD. y = £~ (x) DTS IETORICBZAM.

DTS 7=E#R
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f(xX) = —/3x+6ET3.
a) f(x) DESGEBEZTRE.

b) HEIF £~ (x) ERDEL.

o fl(x) DEEEE(BEEERE.
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d) y=f(x) DISDEEEH y = [~ (x) DTS IZHIT.
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